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You are working for Macrohard company in data structures department. After failing your previous task
X about key insertion you were asked to write a new data structure that would be able to return quickly k-th
order statistics in the array segment.

Time limit 20000 ms i _ X _ :
| That is, given an array a[l...n] of different integer numbers, your program must answer a series of

Case time limit 2000 : NERTN ; ST T

RYE S SN = questions Q(i, j, k) in the form: "What would be the k-th number in a[i...j] segment, if this segment was
Memory limit 65536 kB sorted?"
oS Linux For example, consider the array a= (1, 5,2, 6, 3,7, 4). Let the question be Q(2, 5, 3). The segment
e Northeastern Europe 2004, a2y iusi(05 2516, 3.). If we sort this segment, we get (2, 3, 5, 6), the third number is 5, and therefore the

Northern Subregion answer to the question is 5.
Input

Descriptions:

The first line of the input file contains n --- the size of the array, and m --- the number of questions to

SystemGrawier 20 answer (1 <= n <= 100 000, 1 <= m <=5 000).

AR The second line contains n different integer numbers not exceeding 10 9 by their absolute values --- the
array for which the answers should be given.

teamcww 2016-08-17 The following m lines contain question descriptions, each description consists of three numbers: i, j, and

& k(1<=i<=j<=n,1<=k<=]j-i+ 1)and represents the question Q(i, j, k).

Output

For each question output the answer to it --- the k-th number in sorted a[i...j] segment.

Sample Input
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#inc lude <cstdio>
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// FRBFAEEIEDRMNTIR 1 FREFR

// EFEWRPRNEERER, sum RREXEATETE
struct node {

int sum, 1, r;
} hjt[MAXNx%40];

int a[MAXN], sorted[MAXN], num; // sorted: BE{AEOEA num: BBCENBERKE
int root [MAXN], cnt; // root: EEWNPARRESREENMBNMA cnt: ZBENRERN (BTRAARDEHR)

// BRBEBZENTAR
int GetIdx(int v) {

return lower_bound(sorted+1, sorted+1l+num, v) - sorted;
}

// ¥ak

void Init() {
cnt = 0;
root[0] = 0;

}

// BIBER
inline int CreateNode(int sum, int 1, int r) {
int idx = ++cnt;
hjt[idx].sum = sum;
hjt[idx].1l = 1;
hjtlidx].r = r;

return idx;

}

// FE—REEN, RAEMBENMRHR ETREAEBHRNER

// EARSE

// root: BAGFEMRNEERMOREREMES] root PEMHE

// pre_rt: F—REERAOIR

// pos: FREBFB\ANNBEZENPIOAE

// 1\, r: @38%, ®IAEE 1, num

void Insert(int &root, int pre_rt, int pos, int 1, int r) {
// ShiSEIRER, EFREL— T REAEFNMAOT R, sum+l
root = CreateNode(hjt[pre_rt].sum+1, hjt[pre_rtl.l, hjtlpre_rtl.r);
if(lL = r) return;
int m= (l4r) > 1;
i7(pos <= m)

Insert(hjt[root].l, hjt[pre_rt].1, pos, 1, m);

else Insert(hjtlroot].r, hjtlpre_rtl.r, pos, m+1, r);

}

// ZRFEBTFEOXE [, r] 0% k ), BEREETE
// BRASE
// s, e: EEHXEMBHNANEEMNOR, NEFOXE [1, r], WHEN root[1-1], root[r]
// 1, r: BEAS¥, RARE 1, num
// k: EEFHXEE]/
int Query(int s, int e, int 1, int r, int k) {
if(L = r) return 1;
int m= (l+r) > 1;
int sum = hjt[hjtle]l.l]l.sum - hjt[hjt[s].1].sum; // WEEFROTREE
if(k <= sum) // MR k <= sum, N k ZEEFH, BUELAFH
return Query(hjtls].1l, hjtlel.1l, 1, m, k);
else return Query(hjtlsl.r, hjtlel.r, m+1, r, k-sum);
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